OBPA3OBATEJIbHAS CUCTEMA «I1Ikoma 2100»

YpOoK MaTEeMAaTHKH.
Tema: IlepeMecTHTEABHOE
CBOHCTBO CAOXXEHHSI.
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51 ce200Hs1 8aM npuHéc
YoueumenbHbIl 80MNpoOC:
«Kakum 6ydem crioxeHusi
pe3ynbmam,

Ecnu cnazaembie Mecmamu

NMOMEeHSsIMb?»




2 +3=05

craraeMoe csaraeMoe 3HadJeHue
CYMMBbI




2+ =5

c/laraeMoe dcdiataemMoe 3Ha4eHuUe

E CYMMBbI




cnaraemoe 3HaJyeHue
CYMMBbI

CJiaraemMo




+Z = 5

cJia MOE Moe 3Ha4YeHUEe




+ 2 — 5

cnakaéMoe cnaraeMoe 3Ha4eHue
CYMMBbI

N=-




3 + 2 =5

c/laraeMoe c/1araeMoe 3HayeHue
CYMMb

Caesanrte BBIBO.
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CJIAlI'ACMbIX
OTKPLITHUC .

CYMMAa _HE U3MEHSIeTCH.
L




CPABHUTE

3+2 = 2+3
4+3 = 3+4

6+1 > 5+ 1






[Tonbepute BbIpaXXeHUS K PUCYHKY.

2+5

@ ..

S+ 2

7 -2



















